1 oA 20 7421 8] Zpd = ol A 11 2349 e B H 47

=i 7h

11 23R F 11 RG E5




2. 46.7 o7 55.0 oJskRl A= BT H ANIAYA?

> & 4l

47, 48, 49, 50, 51, 52, 53, 54, 55 — 971




3. 12014 21 ofste] A pE BF B AHIUIN?

> & 4l

> = 1074

12, 13, 14, 15, 16, 17, 18, 19, 20, 21 — 10 7}




4. 42688 Wsko] 1) A7 Lhehd Aok & ste] W] AfelpA
chebd Sete] g dnteld] FohA 2.

> E:

> Z=E 8300

4268 < HHoto] 9] 2427tz YERH 4000 0] 17, &5k
8y o] zt2]7k2] YER A 4300 YUY Tt
wabA] T 429 32 4000 4 4300 = 8300 YU th.




5.

350748 2sto] o] 2Fe}7hx] Lhehd 2ot wlsto] Wo] AR
b S0to] Ahg Tstolar

352745 = Hsto] o] 2712 Vet 4= 35300 ] 1L, HH
sto] Ao zp2]7kA] yebH 4= 35000 o]t wERA], 35300 —
35000 = 300 ©]t}.




fifo

A3} v sto] o] A7iA bl F 0] A8 75

27

28] @ 34725 — 35000
H 2 : 34725 — 34000

35000 — 34000 = 1000




